1) mechanical situation in the Extensometer while approaching the
specimen f)

mechanical stop When you are close to the specimen, turn the
(parking position) handwheel further until the green LED lights up
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a) wrap coal paper around your /

sampel and fix it
/b) d) unwrapped coal paper
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repeat this process 3x. If there are deviations of more than 50 microns between the individual measurements, this can indicate
a mechanical problem in the device. There is always a certain deviation: the rod can slip on a sample that is too smooth
(unlikely) or the rod slips into a material roughness.

If the deviation falls within the tolerable value, | recommend calculating the mean value from the 3 values.




